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STUDY ON THE MEASURING METHOD OF EQUAL
THICKNESS INTERFERENCE IN EXPERIMENT OF
LINEAR EXPANSION COEFFICIENT

Wang Qing Wang Jun Dai Yile Dai Jianfeng Li Weixue
(Department of Physics, Lanzhou University of Technology, Lanzhou, Gansu 730050)

Abstract Optical lever method is commonly used to measure the linear expansion coefficient
of metal in laboratory. Experiments have proved it has a lot of disadvantages such as the inevi-
table accidental error, the low precision of measurement, and the large space needed. These
problems can be solved through the method of equal thickness interference of a wedge. This
new method has many advantages such as small range of temperature growing, low heating
power, high measuring accuracy, easy operation, small space occupation, and so on. It is con-
venient for teachers to explain, teach, and display in practical teaching. And it is good for
students to apply their knowledge comprehensively, and improve their ability of comprehen-
sive experiment design.
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